
Pre-Calculus - Honors

Homework #56

Lesson 56

Answers
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18) (5/2X"/3 - D ffi =',ffis--4- = 5
, tonO = l/"13f O = 330p 2 = {cos 33o" + i sin 33o")

20) -6i r = ffi = 6 tonO = -6lO= urd.i O = 27O"

z =" 6(cos 27O" + i sin 27O")

2r)-7+4i p=r/iSlJ[=G
ton g = -417: I = 18O" - 29.7" = 15O.3"

1 = GGos 15O.3o + i sin 150.3')

24)4 r=ffi=4 tonO=Ol4=O;O=o"
2 = 4(cos O" + i sin O")

35) (3/2Xcos 33O" + i sin 33O")
7 = (3t?ffi/z) + (3tz[-Uzr. = (3{3y4 - 3it4

36) (3/aXcos 3153 + i sin 315")
z = (3te{,t7,t2) + (3/a[ -lTtzri = @tQVs. - (3i{ZyB

3n 3.75(cos''3n/4 + i sin 3tl4)
z = 3.75GEtZl * 3.75(Et2ri = -1.8758 * t.875a"{Z

38) 8(cos h./6 + i sin 5nl6)
z = BG:6l?l * B(lya)a = -4€ + 4i


